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Prototype LaRu3Si2

AFLOW prototype label AB3C2 hP12 176 b h f-001

ICSD 100785

Pearson symbol hP12

Space group number 176

Space group symbol P63/m

AFLOW prototype command aflow --proto=AB3C2_hP12_176_b_h_f-001

--params=a, c/a, z2, x3, y3

Other compounds with this structure
CeRu3Si2, NdRu3Si2, ThRu3Si2, YRu3Si2
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• (Vandenberg, 1980) give the coordinates z2 ≈ 0 (Si) and x3 ≈ 1/2, y3 ≈ 0 (Ru). Using these values would make the space
group P6/mmm #191, with the unit cell half the size of the correct cell. Accordingly we offset these coordinates slightly,
keeping the distances between atoms consistent with the values given by (Vandenberg, 1980).
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2c ẑ (2b) La I

B3 = 1
3 a1 + 2

3 a2 + z2 a3 = 1
2a x̂ +

√
3
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